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MODERN and ANCIENT HISTORY, Art and culture , CA 

1. One of the best known tribal rebellions in Bihar, known as UlguIan(meaning Great Tumult), was launched by 

the Mundas under the leadership of: 

(a)Kanhu  (b) Birsa Munda 

(c) Sidhu   (d) Rampa Munda 

2. In which of the following tribal rebellions did two tribal brothers, Kanhu and Sidhu, proclaim the end of the 

Company’s rule in their region, and to supress their rebellion the government had to use military force? 

(a) Khasi Rebellion in Assam (1855)  

(b) Santhal Rebellion in Bihar (1855-56) 

(c) Naika Tribal Uprising in Gujarat (1868) 

(d) Munda Rebellion in Ranchi (1899) 

3. The main cause of the tribal uprisings of the 19
th

 century was  

(a) the  British land settlements and land laws had created tension in the tribal society 

(b) Christian Missionary activities in the tribal areas 

(c) the British Forest Laws 
(d) new excise regulations and police exactions  

4. ‘Neel Darpan’ a play depicting the revolt against the indigo planters was written by 

(a) Dinbandhu Mitra   

(b) Bankim Chandra Chatterjee 

(c) Rabindranath Tagore   

(d) Naveen Chandra Sen 

5. Consider the following pairs: 

Uprising   Area 

1. Ahom  :  Assam 

2. Santhal :  Rajmahal 

3. Kol  :  Chhotanagpur 

Which of the pairs given above are correctly matched? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

6. Consider the following set of pairs:  

1. Moplah Uprising – Against rise in revenue demand and reduction in field size  

2. Champaran Satyagaraha – Against Tinkathia system  

3. Kheda Satyagraha – Against oppression by upper castes  

4. Bardoli Satyagaraha – Against Bargardari Bill  

Which among the above is/are correctly matched?  

(a) 1 and 3 only  (b) 1 and 4 only  

(c) 2 and 4 only  (d) 1 and 2 only 

7. The main cause for ‘Deccan Agrarian Riots’ of 1874 was the resentment of ‘ryots’ against  

(a) practice of forced labour  

(b) imposition of high land revenue  

(c) exploitation of outsider moneylenders  

(d) subjection to high rents 

8. Which one of the following revolts was made famous by Bankim Chandra Chatterjee in his noval Anand 

Math? 

(a) Bhil uprising  

(b) Rangpur and Dinapur uprising 

(c) Bishnupur and Birbhum rebellion 

(d) Sanyasi rebellion  

9. Paika Rebellion took place in which year? 

(a) 1817  (b) 1822 

(c) 1837  (d) 1857 

10. With respect to the modern Indian history, the term ‘dikus’ refers to 

(a) the exploitative outsiders in tribal areas. 

(b) a form of unpaid labour. 

(c) passes issued by the East India Company. 

(d) a local term for infertile land in the gangetic plain. 
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11. Consider the following statements: 

1. This style was developed under the patronage of Adil Shah. 

2. Its architecture is unique in the use of three-arched facade and bulbous dome. 

3. Gol Gumbad is one the finest example of this architecture. 

Which of the following schools of architecture is best described by the above statements? 

(a) Malwa school 

(b) Jaunpur School 

(c) Bijapur School 

(d) Bengal School 

12. Which of the following folk dances are form of mask dance? 

1. Singhi chham 

2. Mayurbhanj Chhau 

3. Bihu 

4. Butta Bommalu 

5. Padayani 

Select the correct answer using the code below. 

(a) 1 and 2 only 

(b) 2 and 5 only 

(c) 1, 4 and 5 only 

(d) 1, 3, 4 and 5 only 

13. Consider the following statements regarding the Satavahanas rulers of Ancient India: 

1. Their social structure was completely patrilineal. 

2. Their coinage system consisted of gold coins. 

3. Their official language was Prakrit. 

Which of the statements given above is/are correct? 

(a) 1 and 2 only 

(b) 3 only 

(c) 2 and 3 only 

(d) 1 and 3 only 

14. With reference to the recently launched Naval Innovation and Indigenisation 

Organisation (NIIO), consider the following statements: 

1. It is a three-tiered organization aimed at boosting innovation in defence through collaboration with academia. 

2. Under NIIO, a Naval Technology Acceleration Council (N-TAC) will be set up as an apex decision making 

body. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 
(d) Neither 1 nor 2 

15. Consider the following pairs: Medieval Port Region 

1. Tamralipti Maharastra 

2. Chaul Bengal 

3. Masulipatnam Andhra Pradesh 

Which of the pairs given above is/are correctly matched? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 3 only 

(d) 1, 2 and 3 

16. With reference to Magadha success, consider the following statements: 

1. Presence of rich iron deposits. 

2. Efficient communication system. 

3. Impregnability of Rajgir. 

4. Use of elephants in wars. 

Which of the statements given above is/are correct? 

(a) 1 and 3 only 

(b) 2, 3 and 4 only 

(c) 1 and 4 only 

(d) 1, 2, 3 and 4 

17. With reference to Karkhanas in medieval India, consider the following statements: 

1. Goods manufactured in the Karkhanas were primarily meant for exports. 

2. Apart from royal capitals, karkhanas were also established in provincial capitals. 
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3. During the Mughal era, Karkhanas were headed by officers called Mir Saman. 

Which of the statements given above are correct? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

18. Kalpa Sutra, a Jain ancient textbook containing the biographies of the last two Jain Tirthankaras is written by: 

(a) Kautilya 

(b) Bhadrabahu 
(c) Ashvaghosha 

(d) Sthulabhadra 

19. With reference to the Dragonfly festival, recently seen in the news, consider the following statements: 

1. It aims to educate and inform the public about the integral role of dragonflies and other insects. 

2. It was organized by the World Wide Fund along with the Bombay Natural History Society. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

20. Recently NASA has given the status of an “ocean world” to the dwarf planet Ceres. In this context, which of 

the following is not a criterion of classifying a celestial body as a dwarf planet? 

(a) It must orbit around the Sun. 

(b) It must not be a satellite of another celestial body. 

(c) It must clear the neighborhood around its orbit. 

(d) It must have enough mass for its gravity to pull it into a roughly spherical shape. 

21. Filariasis is a parasitic disease, caused by: 

(a) Wuchereria bancrofti 

(b) Entamoeba histolytica 

(c) Babesia microti 

(d) Trypanosoma cruzi 

23. Consider the following statements 

1. The Collegium System is prescribed in the constitution. 

2. It consists of the Chief Justice of India with two senior most judges. 

3. National Judicial Appointment Commision Act, 2014 was brought to replace commision. 

Which of the above statements is/are not correct? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

24. Consider the following statements regarding Mahatma Gandhi National Rural Employment 

Guarantee Act (MGNREGA): 

1. It ensures unskilled manual work as guaranteed employment in a financial year. 

2. It is implemented in all rural districts of the country. 

3. The Act provides a legal right to employment for adult members of rural households. 

Which of the following statements is/are correct? 

(a) 1 and 2 only   (b) 2 and 3 only 

(c) 1 and 3 only   (d) 1, 2 and 3 

25. What are the factors that determine Particularly Vulnerable Tribal Groups (PVTGs) 

1. Pre-agriculture level of technology 

2. Stagnant or declining population 

3. Extremely low literacy 

4. Subsistence level of the economy. 

Which of the following options is/are correct? 

(a) 1 and 2 only   (b) 1, 2 and 4 only 

(c) 2, 3 and 4 only  (d) 1, 2,3 and 4 

 

 


